= /MNP ESHERZEE

R Y BE > Dimensions

3-]AW SOLID POWER CHUCKS

— il (CL-05)
s (10
| [T
=N _
g }_év E I LI
| g \v
ﬁ_ - <}J %l‘é J;ﬁ]ﬂ
Lt
N
ElL| K —
E|l|L Fll |
g L) Ed
@ E% CL-15,18%! (CL-05) B
el |
#52 4% 32 > Specifications EE{iI/UNIT:mm
B RS  TESimRER
MODEL Nose Of A (r?e) D E E1 F G J K L M
/ SPEC. Spindle
CL-05 A4 135 80 63.513 - - 7 - 100 - 3-M8x1.25P 14 14
CL-06 Ax-5 165 140 82.563 15 - 5 116 104.8 21 6-M10x1.5P 14 20
CL-08 Ax-6(A=-5) 210 170 106.375 17 23 5 150 133.4 25 6-M12x1.75P 18 25
CL-10 A--8(A=-6) 254 220 139.719 18 28 5 190 171.4 34 6-M16x2P 25 30
CL-12 A--8 304 220 139.719 18 - 6 190 171.4 34 6-M16x2P 25 30
CL-15 A-11 381 300 196.869 22 - 6 260 235 - 6-M20x2.5P 32 43
CL-18 A-11 450 300 196.869 22 - 6 260 235 - 6-M20x2.5P 32 43
B #RAE
MO{DEL N N O O P P Q R S T U Vv w X Y
/ SPEC. max. min. max. min. max. min.
CL-05 30.4 27.2 17.1 9.6 9 -6 25 10 35 2 M12x1.75P 28 31 62 -
CL-06 37.8 33.25 15.1 9.1 101.5 81.5 31 12 36 4 M16x2P 34 39 73 -
CL-08 46.3 41.9 22.1 10.1 127 106 35 14 36 5 M20x2.5P 38 42 95 104.8
CL-10 51.4 47 30.6 9.6 158 133 40 16 36 5 M20x2.5P 45 46 110 1334
CL-12 60.7 55.45 48.6 12.6 163 133 50 18 36 5 M20x2.5P 50 54 129 -
CL-15 69.05 60.97 58.05 40.05 104 69 62 255 55 7 M30x3.5P 60 68 165 -
CL-18 99.46 91.38 58.05 40.05 92 57 62 255 55 7 M30x3.5P 60 68 165 -
I mﬁﬁji Ej(j:ﬁjj E'j(r%ﬁﬂ E%K%QEE_' ;“/;\"E
ms s EETE (BT smemE L0 poRrsE SR BE mpaldss TS E0E
MODEL Plunger  jaw Stroke  Max.Speed Force Forcgp 9 Max. Hydr. Weight "Matching - Gripping
/ SPEC. Stroke [Diameter]  r.p.m.(min) Pressure (kg) i 9 Range
(mm) (mm) kgf  (KN) kgf (KN) kgficm?  (Mpa) Cylinder
CL-05 15 6.4 5500 800 (7.8) 2450  (24) 25 6 L0815 28~0135
CL-06 20 8.5 5000 1730 (17) 5200 (51) 25 11.4 L1020(L1020R) 218~0165
CL-08 21 8.8 4600 2440 (24) 7440  (73) 25 21.9 L1225(L1225R) 212~0210
CL-10 25 8.8 4000 2850 (28) 10810 (106) 29 334 L1225(L1225R) 2016~0254
CL-12 30 10.5 3200 4080 (40) 15500 (152) 29 58.5 L1530(L1530R) 218~0304
CL-15 35 16 3000 8260 (81) 25290 (248) 32 100.6  L2035(L2035R) 068~0381
CL-18 35 16 2700 8260 (81) 25290 (248) 32 134.3 L2035(L2035R)  ©100~2450




